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Choose the correct form of verb to fill in the blank.

The price of oranges rising in the market.
(1) are (2) have
(3 1= (4) had

1 1
(2) 2
3) 3
(4) 4

F=iAlEd | F-E1 er-EY H9G 7 ¢

(1) = (2) =zt

(3 = (4) =z

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11201]
2[Option ID=11202]

3[Option ID=11203]
4[Option ID=11204]

Sl. No.2
QBID:1007177

From among the four options given. choose the most appropriate sequence for the four
phrases given below to make a meaningful sentence :

(A) wages were going to be cut and
(B) the workers were up in
(C) decided to go on strike

(D) arms when they heard that their

Choose the correct answer from the options given below:

(1) (D). (A).(C). (B)
(2) (B). (D). (A). (C)
(3 (C). (B). (D). (&)
{4) (A). (C). (B). (D)

1) 1
(2) 2




3) 3
(4) 4

o~ - e I . -
Fr=AfeAfEa A 1 3tad HHEER SEfead Hir

(A) 377 3954 °EG 7 (B) i T i
(C)  FwmEsd D) =m

(E) wsanuazzi®
(1) CEDBA (2 ABCDE
3 BCDEA 49 CDABE

1) 1
) 2
(3) 3
(4) 4
1[Option ID=11205]
2[Option ID=11206]

3[Option ID=11207]
4[Option ID=11208]

Sl. No.3
QBID:1007178

9

Which two of the following words take irregular’ verb forms

{A) hegin
(B) defy
(C) manage
(D) bite

Choose the correct answer from the options given below:

(1) {A) and (D) only
(23] (A) and (B) only
(3) (B) and (C) only
(4) (B) and (D) only
1) 1
(2) 2

(3) 3
(4) 4

29 o Ued T | H W T ° e e giee w2 v

(1)  =9E 2y fw==
(3) T4 4) ===
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=11209]




2[Option ID=11210]
3[Option ID=11211]
4[Option ID=11212]

Sl. No.4
QBID:1007179

Match List T with List IT :

List I List IT
(word) (synonym)
(A) accolades (I)  show
(By desultory (IT) honour
{(C) evinece (ITTy guess
(D) surmise (IV) aimless

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(III). (C)-(II). (DH-(I)
(2) {(A)-(I). (B)-(IT). (C)-(III). (D)-(IV)
(3) (A)-(IT), (B)-(IV). (C)-(I). (D)-(III)
(4) (A)(III). (B)-(I). (C)-(IV). (D)~(IT)

1) 1

(2) 2

(3) 3

(4) 4

9 = FoA fou U 7 ;v s7i9ue (Assertion (A) * =9 ¥ fefEd 7 @ THT 3H + #10 (Reasons (R)
%

= H
AwFA (A) “T7 "ol 2 | W G909 B A 2
F7 (R) : T FEAE e H HE B YO B A w2

S HUA F AEF H, A6 50 T G d W geH 3w 39 B 96 Ay

(D) (&) s ®) 7 =4 2 i (R), (A) F A e
(2) (A) = (R) 3F1 =@l 7, =it (R), (A) Fi T8 = 77 7
@ WA A @) w2

(4 (A=A 2, = R) TE 2

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11213]
2[Option ID=11214]

3[Option ID=11215]
4[Option ID=11216]




Sl. No.5
QBID:1007180

Pick out the correctly spelt word.

(1) twelth (2) twelfthe
(3 twelfth (4) towelfth
(1) 1
(2) 2
(3) 3
(4) 4
11 % =0 F1 F=-11 T fifw
11 11
(A) == uE @O wAFEEE
(B) Tw&® =1 § T F=1 7 5 TH (I) o
(C Tmwmdamaz (D) =
(D) & F IYHE A Al @v) feh
4= feu T T § O 98 39 H1 999 HiE

1 (A-O. (B-ID. (O)-(IID. (D)-IV)
(2)  (A)-AV). (B)-(ID). (C)-(II), (D)-(I)
(3)  (A)-IID. B)-D). (C)-ID). (D)-(IV)
4)  (A)-ID. B)-(D. (C)-(IV), (D)-(II)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11217]
2[Option ID=11218]

3[Option ID=11219]
4[Option ID=11220]

Sl. No.6
QBID:1007181

“The peace talks between the Russia and Ukraine ended in a stalemate.”

From the following options pick the correct synonym of the word in italics.

(1) Agreement (2) Dilemma

(3) Impasse (4) Disagreement
(1) 1

(2) 2

(3) 3

(4) 4




forfetas 8 afasm =0F F 994 7
(A) 7Y, FAR @ w=|

B) it wE W R

(C) oMy, 99 &l T A7

(D) 7RE T FE 4G A6 A

(E) =3 = o7 U%F H19 W 7|

4= fou 70 fawem § O 98 3 =99 R
D (A.® 3 ()
2  (B).(C)Fr D)
(3)  (B). (C) ¥ (E)
@  (®). D) R (B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11221]
2[Option ID=11222]

3[Option ID=11223]
4[Option ID=11224]

Sl. No.7
QBID:1007182

Identify the correct direct speech of the following sentence.

Arshil said that he was very busy then.

(1) Arshil said. "He 1s very busy now.”
(2) Arshil told, "I am very busy now.”
(3) Arshil said, “You are very busy now.”
(4) Arzhil said, “T am very busy now.”
1) 1
(2) 2
3) 3

(4) 4




= ?1 EE) T%UTHTT—J :

Fo ;. Taem w19 ° Feds i i wes wE S 2

FA I 0 EoH @ Fadl 2| FdE w6 g f W v R

IHIE FYA F AEAS H, 44 50 T wedl 8 A geE I S H =9 i

(1)  #¥ [3R D EH g8 &
(2 =¥ IR [ 5A 7o 7
(3) = IEA B, WA Fee I 7Tea 2
(4)  FA 17 2, i % a2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11225]
2[Option ID=11226]

3[Option ID=11227]
4[Option ID=11228]

Sl. No.8
QBID:1007183

Which of the following iz a one-word substitute for ‘a person who 1s unsure about God's
existence’?

(1) Renegade

(2) Atheist

(3) Inrreligious

(4) Agnostic

1 1
(2) 2
3) 3
(4) 4




= 71 FE fou e E

FoT [ T A A gEE H Ad B - S-S § g A % grl wid G|

w4 I1:  Tuifie waEEta F o e siais ®6 F t9a ¥ Hed 9 99 & f =5 F 595 F59 2
I FUA F AT 5, A9 50 T e 5 3 999 991 39 6 999 S

(1) == I3AR [ 5F & 2

(2) A I 3R ISl 58T 2

(3)  FH 1Eea 2, SR Fed I 3780 2
4)  F [ E B, A e L5 &

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11229]
2[Option ID=11230]

3[Option ID=11231]
4[Option ID=11232]

Sl. No.9
QBID:1007184

Choose the correct passive voice of the following sentence.

I was wailting for the minister.

(1) The minister was being waited for by me.
(2) The minister was waited by me.
(3) The minister was waiting for me.

(4) The minister had been waiting.

(1) 1
) 2
(3) 3
(4) 4




-

@  fEm
B) TR

(C)y U=
D) HnA
(E) =

#r= fou T foweT § § 9F I 1 =999 A
(1) == (A). (B) 7T (C)
(2)  Fa (B). (C) 317 (D)
(3)  Fa= (B), (D) # (E)
@  Fa (C). (D) 31 (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11233]
2[Option ID=11234]

3[Option ID=11235]
4[Option ID=11236]

Sl. No.10
QBID:1007185

Fill up the blank with the correct form of verb.
Neither food nor water available there.
(1) were

(2) will not be

(3) was

(4) have being

(1) 1
) 2
3) 3
(4) 4




FefeAEd 7 % o fauiiaEs s g8 g 27
(A)  EieE-FEies

B) ==~

(C)  wivi-Trorein

(D) <[-3=a

(E) = 7t

= oo U fawe 5 9 " I #0199 A
(1)  Fa= (A), (B) 3R (C)
(2)  #a= (B), (C) 7 (D)
(3) = (B). (D) 3% (B)

(4)  Ha (C), (D) #H (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11237]
2[Option ID=11238]

3[Option ID=11239]
4[Option ID=11240]

Sl. No.11
QBID:1007186

The notification declaring the minority communities / groups is done by :

(1) The Parliament
{(2) The State Governments
(3) The Central Government
(4) Concurrently by State and Central Governments
1) 1
(2) 2
(3) 3
(4) 4
FATEEET THEET| TR H Hia F 9l SAage FE S w2 e
(1) ==
(2) T3 W
(3)  HEE TEHR

(4) g IR U9 TEE oA O -y

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=11241]
2[Option ID=11242]
3[Option ID=11243]
4[Option ID=11244]

Sl. No.12
QBID:1007187

The first image of a black hole captured by Event Horizon Telezcope (ETH) has been named
as:

(1) Stephen Hawking BH*AB (2) SYr*A
(3)  Messier 87 (4) Eienstien Galaxy BH*88
(1) 1
() 2
(3) 3
(4) 4
T FIiH Zieeh (ETH) gr et Foor-faem (6 2i) i o 9eet afafses 1 901 7 &7
(1) % =% BH*AB (2) SYr#A
(8)  fem 87 (@) T A BH*SS
1) 1
() 2
(3) 3
(4) 4

1[Option ID=11245]
2[Option ID=11246]
3[Option ID=11247]
4[Option ID=11248]

Sl. No.13
QBID:1007188

The dance form which uses Javadeva's Gita Govinda In an extensive manner is called :
(1) Kuchipudi (2y Chau

(3 Manipuri (4) Odissi

1) 1

2) 2

3) 3
4) 4

eE F TM-TiiE 1 SE B H S0 i ST A e a4 B 7

(1) Fragel (2) 3=
(3)  wforgd (4) aAifsHi

1)1
(2) 2
(3) 3
4) 4

1[Option ID=11249]
2[Option ID=11250]




3[Option ID=11251]
4[Option ID=11252]

Sl. No.14
QBID:1007189

The celebration of National Press Day on November 16 in India was started by :

(1) Press Council of India

(2) Ministry of Information and Broadecasting
(3) United Nations

(4) National Press Club

1)1
(2) 2
(3) 3
4) 4

16 a1 TP 9E 59w & =9 1 g i e e f i
(1) a9 gig

(2) o1 AR THRW T

(3) uFH Y

(4 i IE T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11253]
2[Option ID=11254]

3[Option ID=11255]
4[Option ID=11256]

Sl. No.15
QBID:1007190

Shyam Benegal's Committee was set up in 2016 for :

(1) clearing the backlog of films for certification
(2) regulating the adult films
(3) develop a strategy for promotion of children's films

(4) laying down rules for film certification

(1) 1
(2) 2
3) 3
(4) 4

2016 9 oI ST giata R o s e i ?

(1) WA % foe 95 & ==t 53 THeat =1 yavE F1 T8 FE
(2)  ==eF THonl = im0

(3)  STEA-THeH! Fl TIeHTEd F  [e0 W0HEIT [EEnEd

(4)  TEen—wHvE % f@e FEe a1




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11257]
2[Option ID=11258]

3[Option ID=11259]
4[Option ID=11260]

Sl. No.16
QBID:1007191

If South - East becomes North - West then what will South - West become?

(1) North - West (2) South
(3) North {4y North - East

1 1
) 2
(3) 3
(4) 4

afz, wféi—ud sm-afram &1 9w @ cfm-afvan =0 Fm?

(1)  Sw-ufrsm (2) afem
3 W (4 Sw-g

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11261]
2[Option ID=11262]

3[Option ID=11263]
4[Option ID=11264]

Sl. No.17
QBID:1007192

In the guestion below statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions.
Statement :

Area welfare zociety requested the local administration to allow them for converting vacant
land into vehicle parking area at thelr own cost.

Assumptions :
(1) The local authorities shall be happy to give permission.
(11) The welfare society shall be able to collect funds to convert the land into vehicle

parking area.
(1) Only (1) 1s implicit
(2) Only (11) is 1mplicit
(3) Both (1) and (11) are implicit

(4) Neither (1) nor (11) is implicit




1 1
(2) 2
3) 3
(4) 4

Hr fou T wv UF e A YU & S | YH-gRneT % e W awed W fEen fiy o i
fou T foshedl ® © Wt faew #1 =77 Fifw)

T

e dhR T 4 e TEE ¥ e e 3 o e W v aelt sfim w= omisat & o
TR 8 S Sl ST o S|

FERCLLILE

() wE st gt o e E|

(i) e sefF e - &9 1 ager & o de @i e9-mme F 0 A 2

(1) =<t (@) T R

(2)  as (i) TH-Tied 2

(3)  &F Q) @i Gi) wew e A

(4) T4 @) AR T E (1) T ea B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11265]
2[Option ID=11266]

3[Option ID=11267]
4[Option ID=11268]

Sl. No.18
QBID:1007193

Question helow consists of a statement and two arguments. Decide which argument 1= strong
and which is a weak argument.

Statement :

Should ban on hunting of tigers in forests be lifted?

Arguments :

Yes. the ban is not effective as tigers are still being killed.

No. the tigers will start roaming in the city.

(1) Only (1) 1s strong argument.

(2) Only (11) is strong argument.

(3) Neither (1) nor (11) are strong arguments.

(4) Both (1) and (11) are strong arguments.

(1) 1




) 2
3) 3
4) 4

= forg wes o v awed 3R a1 o 7| o i 7 FE | ad vee @ SR R o1 @ e B 7

E s -
F1 I ° ST+ IR W S giaeey 52 oA S anen ?
GER

(1) =, ol TUIEEE TR 2 i s T o 3o w E)
(i) A, s e H g 6w = il

(1)  =a« (i) 98 7 7

(2) 4 (i) Y& 75 2

(3)  Jd (1) FATF (1) TEA T =l

(4)  TE (1) 3 (i) TET T B

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11269]
2[Option ID=11270]

3[Option ID=11271]
4[Option ID=11272]

Sl. No.19
QBID:1007194

Select a suitable figure from the answer.

Figures that would replace the question mark (?).

Problem Figures : Answer Figures :
(A) (B) (C) (D) (1) (2) (3) (4)
(1) 2 (2 2
(3) 3 4 4
1) 1
(2) 2
(3) 3

(4) 4




IT-FHET ¥ W U 3fEd E F gAa Fifew A gyaEs e (7) #7995
A g e - arrpfet

ORI 2] [SPIPIP

(A) (B) (C) (D) (1) (2) (3) (4)

(1) 1 (2)
(3) 3 4 4

[R]

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11273]
2[Option ID=11274]

3[Option ID=11275]
4[Option ID=11276]

Sl. No.20
QBID:1007195

Pointing towards Mary. John said ‘Only daughter of Father-in-law of her brother's mother iz

5

my wife’. How is John related to Mary®

(1) Brother (2) Uncle
(3) Father (4 Data Insufficient

(1) 1
(2) 2
3) 3
(4) 4

i I IR T Fd §U A S, I6H WIS Al W TEL o THAE T A a2 | SE W "
e 27

(1) (2) =
(3)  faw (4) gE AT B

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11277]
2[Option ID=11278]

3[Option ID=11279]
4[Option ID=11280]

Sl. No.21
QBID:1007196




A shop stores x kg of rice. The first customer buys half this amount plus half a kg of rice. The
second customer buvs half the remaining amount plus half a kg of rice. Then the third
customer also buys half the remaining amount plus half a kg of rice. Thereafter, no rice 1s left

in the shop. Which of the following best describes the value of x?

(1)

[R]
[
[

x<6 (2) bH<x<8§

(3} 9

P

12 4) 11<x<14

1M

X

1)
(2)
(3)
(4)

A W N =

UF THE H A ok T 9SH 2| UECT WEd TH WAl A AT a91 S T aEe SR e 21 e
e =t At T A e e e R = SR wiea 7)) fmm wes off s ol e e @en
ST TR =Ee SR Wi #1569 W= ohH § 59 9Ed T8 awdn 2| 79 T o 9 S5 w6 w6
aford =T & ¢

(1)

)
1A
]

I
=3}

(2) bH=<x<8

(3)

w0
14
=
14
'_l
(a1}

4 11<x=<14

(1) 1
) 2
3) 3
(4) 4
1[Option ID=11281]
2[Option ID=11282]

3[Option ID=11283]
4[Option ID=11284]

Sl. No.22
QBID:1007197

There are two circles of different radius such that radius of the smaller cirele 1= two-fifth that
of the larger circle. A square whose area equals 5184 sq cm has its side as thrice the radius of

the larger circle. What 1s the circumference of the smaller circle?

(1) 65.25 em 2y 60.34cm
(3) 49.534 em (4) bH4.23cm
(1) 1
(2) 2
(3) 3

(4) 4




fim il a9 2 T & SR 39 A Fowm w2 T A Fem w2 A wm ) i foe da
2

5184 =7t Tiefi 2 it on w2 g i e w1 fF T R) B g9 = ot ;oA

(1)  65.25 4t (2) 60.34
(3) 49.34 = (4) 54.23ad

1 1
(2) 2
3) 3
(4) 4
1[Option ID=11285]
2[Option ID=11286]

3[Option ID=11287]
4[Option ID=11288]

Sl. No.23
QBID:1007198

Ramesh purchased a house worth Rs. 10.00.000 and Amrita purchased a car worth Rs.
16.00.000. The value of house every vear increases by 20% of the previous value and the value
of car depreciates everv vear by 25%. What iz the difference between the price of house and
car after 3 yvears?

(1) 10.63.000 (2) 10.53.000
(3) 10.43.000 (4) 11.53.000

(1) 1
) 2
(3) 3
(4) 4

¥ 5 %, 10.00,000 71 UF W GG 791 AT 4 5. 16,00.000 F vk FR G| gdF 99 =W Fi Foa
ot ad Fi Fma +1 20% sgdl 2 39 w0 Fi Fua Twe a8 Hi Fim = 25% ged 2 dF 9l g we
qun wR FT FEal w1 A e ?

()  10.63.000 (2) 10.53.000

(3)  10.43.000 (4) 11.53.000

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11289]
2[Option ID=11290]

3[Option ID=11291]
4[Option ID=11292]

Sl. No.24
QBID:1007199

Vivek had . 23.000. He invested some amount in scheme A at SI at 20% and the remaining

amount in scheme B at CI at 10%. If Vivek got the same amount from both of them at the end
of one vear, how much (in %) did he invest in scheme B?

(1) %.12.000 (2) % 13.000
(3) % 11.800 (4) % 12,500




1 1
(2) 2
3) 3
(4) 4

faa= & 9\ 5. 23.000 | 354 F9 TR GRASAT A § 20% HERT A W a1 79 T qiEem B E
10% =dlg =19 W = e 4f 39+ # uF 9 @1 oA st & 99F TR e, 39 i B
o fopert Tfer =t e fom ?

(1) % 12.000 (2) . 13,000

(3) % 11.800 (4) = 12.500

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11293]
2[Option ID=11294]

3[Option ID=11295]
4[Option ID=11296]

Sl. No.25
QBID:1007200

Peter marks up all Jeans in his shop 20% higher. He gave 25% discount on 2/5% of the total
Jeans and 12% dizcount on 1/4% of the total Jeans. If Peter gets an overall profit of 2.3%. then
what percentage of discount should be given by Peter to customers on the remaining Jeans?

(1) 10% (2) 2%
(3) 3% 4y bH%

(1) 1
) 2
(3) 3
(4) 4

s . Fa . j ' 3 & & 0y
diex At gFA F T Sfim f Fma 20% s sifEd w1 8| 35 F9 S & - d 9 W 25% g2 a9
2

Fel HIH % 3 W W 12% $it g2 4 AfG fet B B @ 2.3% W B 2| a8 99 Sie 9 aEE
foremt wfeem it g2 & = =nfen ?

(1) 10% (2) 2%

(3) 3% (4) 5%

1 1
) 2

3) 3

(4) 4

1[Option ID=11297]
2[Option ID=11298]

3[Option ID=11299]
4[Option ID=11300]

Sl. No.26
QBID:1060001




Condensation polymerization of produces Bakelite.

(1) Propylene (2) Phenol and formaldehyde
(3) Phenol and acetaldehyde (4) Urea and formaldehyde

1)1
(2) 2
(3) 3
4) 4

fore T ageE S S R 7
(1) i (2) Tre i wifesems
(3) e st wfieufesens (4) Ffen ¥R wiafceass

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11301]
2[Option ID=11302]

3[Option ID=11303]
4[Option ID=11304]

Sl. No.27
QBID:1060002

Vinyl flooring is done using sheets,

(1) Poly Vinyl Chloride (PVC) (2) Polypropylene
(3) Polythene (4) Polyvinyl acetate

1)
(2)
(3)
(4)

AW N =

i =i iz = ITEAF T [AEE e i S AP

(1)  OitEEs FarmEs (PVC) (4 =t =) @) s
(3)  wEEE P Y
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=11305]
2[Option ID=11306]
3[Option ID=11307]
4[Option ID=11308]

Sl. No.28
QBID:1060003

Most commonly used rubber vulcanization agent is

(1) Peroxide (2) Platinum

(3) Bromine (4) Sulfur

1) 1




(2) 2
3) 3
(4) 4

TS & oA & G9H G B9 8 I H S S 916 w6 ST T e 7

(1) THiFEEs (2) =EFEw
(3) FHE (4) o

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11309]
2[Option ID=11310]

3[Option ID=11311]
4[Option ID=11312]

Sl. No.29
QBID:1060004

is a thermosetting plastic.

(1) Bakelite (2) PVC
(3) Polythene (4) Polystyrene
(1) 1
(2) 2
3) 3
4) 4
(1)  #%eTee (2) PVC (df =i =)
(3)  ieldH (4) wielFeEiE
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=11313]
2[Option ID=11314]
3[Option ID=11315]
4[Option ID=11316]

Sl. No.30
QBID:1060005

In additional polymerization, unsaturated monomers contain

(1) Single bond (2) Double bond
(3) Triple bond (4) All of them
(1) 1
(2) 2
(3) 3

(4) 4




Afifes age 4, STEgH TFeH 7 EGIRA|
(1) wH-dg (2 fz-7g

-

(3) H-=9 (1) 9 O

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11317]
2[Option ID=11318]

3[Option ID=11319]
4[Option ID=11320]

Sl. No.31
QBID:1060006

Neoprene is chemically known as

(1) Polyurethane (2) Styrene butadiene rubber (SBR)
(3) Polybutadiene (4) Poly Chloroprene
(1) 1
(2) 2
(3) 3
(4) 4
i =1 raEE 9 T 8T
() e (2) s e s (SBR) (@ o #m)
(3) uicEEER (4) aielt T
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=11321]
2[Option ID=11322]
3[Option ID=11323]
4[Option ID=11324]

Sl. No.32
QBID:1060007




The characteristics of condensation polymerization are given below
I Only —C—C—- linkages present in the polymer structure
II. Use of bifunctional or poly-functional monomers

III. Elimination of a small byproduct molecule
Which of the following is true?

(1) L II and I1T

(2) I and III only

(3) II and III only

(4) OnlyIII

1) 1
() 2
(3) 3
4) 4
HU agehE 1 fafie e A= R m R

M  =Fe T | Faa-C-C fo=ha s9fesm g 2
(A1)  Tafrme @ agfraes aHmE # ITEm

(II) B¢ IEeg A9 =+ HEm

ol & i g 27
() (D, (1) 3 (101
(2) == (1) 3 (1)
(3) = (IT) 3R (I10)
(4) = (1)

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=11325]
2[Option ID=11326]
3[Option ID=11327]
4[Option ID=11328]

Sl. No.33
QBID:1060008

Which of the following kind of polymers are known for their high erystallinity?

(1 Isotactic (2) Syndiotactic
(3 Atactic {4) None of the above
1) 1

) 2




3) 3
(4) 4

T | B age F1 TRR S 3= SRreden & fou s s 27

{l] \\ﬁ-.
(3 wfF=

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11329]
2[Option ID=11330]

3[Option ID=11331]
4[Option ID=11332]

(2)
(4)

faafeafefas
T & F1E T

Sl. No.34
QBID:1060009

Polymeric materials are:

(1 Elastic

(3) Viscoelastic
1) 1
(2) 2
(3) 3
(4) 4
(1) B2 e=)

(3) 74 TcATE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11333]
2[Option ID=11334]

3[Option ID=11335]
4[Option ID=11336]

(2)
(4)

Plastic

None of the above

(2) wIEF
(4) = O HIE T8

Sl. No.35
QBID:1060010

Kevlar is the commercial name for

(1 (Glass fiber
(3) Cement

(1) 1
) 2
(3) 3
(4) 4

(2)
(4)

Carbon fiber
Aramid fibers




eI FREeR ST T £ 7
(1)  TomE @ (2) = T
(3) = (4) uuliE

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11337]
2[Option ID=11338]

3[Option ID=11339]
4[Option ID=11340]

Sl. No.36
QBID:1060011

Nylon is a
(1) Polyamide (2) Polysaccharide
(3) Polyester (4)  All of the above
(1) 1
(2) 2
(3) 3
4) 4
TS T 8
(1) =ge= (2) g
(3)  diefE (4) I9 =
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=11341]
2[Option ID=11342]
3[Option ID=11343]
4[Option ID=11344]

Sl. No.37
QBID:1060012

Polymer obtained by the polymerization of only one type of monomer molecule is

(1) Homopolymer (2) Copolymer

(3 Heteropolymer (4) Addition polymer
1) 1

(2) 2

(3) 3

(4) 4




FEAF Fad UTF FHN F UHas Y F g WH 24 2

(1) LEEERED (2) dgsEeTh
(3) T sger (4) @ ageE

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11345]
2[Option ID=11346]

3[Option ID=11347]
4[Option ID=11348]

Sl. No.38
QBID:1060013

The polymers used in aerospace components, telecommunication systems, conductive fabrics,
and photovoltaic cells are

(1) Teflon (2) Conducting polvmers

(3) Bakelite and Novolac (4) None of the above

(1) 1
) 2
(3) 3
(4) 4

s B, Fyae . = - . T R =1 ﬁ'_V'[ % = 3
= 9§ 9 SA=RE 929, UER 0, Jed #9537 TFE Jied 99 ° 3T S50 v

(1) oFH (2) =TT TEAF
(3) %Iz HR AT (4) =T ° FE TA
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11349]
2[Option ID=11350]
3[Option ID=11351]
4[Option ID=11352]

Sl. No.39
QBID:1060014

Number of monomer molecules that take part in polymerization is

(1) Degree of polymerization (2) The molecular weight of polymer
(3) Tg of polymer (4) None of the above

(1) 1

2) 2

3) 3

(4) 4




THeT® S i &A1 | AEAHHO § AT A &
(1) =gedEm fi 5=l (2) wEcA = AMvah 9K

&)

(3) FEAS F Iy (4) T H FE A

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11353]
2[Option ID=11354]

3[Option ID=11355]
4[Option ID=11356]

Sl. No.40
QBID:1060015

Surfactant is used in

(1} Emulsion polymerization (2) Bulk polymerization

(3) Suspension polymerization (4) Solution polymerization

(1) 1
(2) 2
3) 3
(4) 4

TEaGERaE 39 | R I E 27

(1)  oTaE ST (2) THETA] FECTHIH
(3) Frowm TgedEm (4) oo agehmm

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11357]
2[Option ID=11358]

3[Option ID=11359]
4[Option ID=11360]

Sl. No.41
QBID:1060016

Addition polymerization reactions

(1) Need initiators (2) Acid catalyzed reactions

(3) Base catalyzed reactions (4) Will initiate without initiators
(1) 1
(2) 2
3) 3

(4) 4




T H AT SEerh AR 1
(1)  YRESF =i ATF9aehal 2| (2) w17 IeitE At
(3) oW Ieufa sAfubear (4) Torm omese %6 wwew B

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=11361]
2[Option ID=11362]

3[Option ID=11363]
4[Option ID=11364]

Sl. No.42
QBID:1060017

Branching in the polymer chain

(1) Decreases Tg value (2) Stabilizes Tg value

(3) Increases Tg value (4)  Does not affect Tg value

1) 1
(2) 2
3) 3
(4) 4

FEETT FEE § IS H w2
(1 Te WH U1 E (2) T¢ W TR
(3) 7w WHE "EA B (4) 7= HE = THIEE T8 w1 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11365]
2[Option ID=11366]

3[Option ID=11367]
4[Option ID=11368]

Sl. No.43
QBID:1060018

Which plastic materials contain strong cross linkings in their molecular structure

(1) Thermoplastic materials (2) Thermosetting materials
(3) Both (1) and (2) {4) None of the above

(1) 1

(2) 2

3) 3

(4) 4




FITE gazd TEr T STEE B H S F 99 90 F 2

(1)  agged e (2) wIgE e
(3)  =H (1) 3R (2) (4) T ® FE TE
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11369]
2[Option ID=11370]
3[Option ID=11371]
4[Option ID=11372]

Sl. No.44
QBID:1060019

Natural rubber iz a polymer derived from

(1) Ethylene (2) Propylene
(3) Isoprene (4) Butadiene

1 1
(2) 2
3) 3
(4) 4

T T UF 95 ¢ A1 FHH g § 591 87

(1)  sgiEfeE (2) wiERkA
(3)  wmgEn (4) =IeTETA

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11373]
2[Option ID=11374]

3[Option ID=11375]
4[Option ID=11376]

Sl. No.45
QBID:1060020

Plastic tubes and pipes are generally made by which molding process

(1) Injection (2) Transfer

(3) Extrusion (4) Compression
(1) 1

(2) 2

3) 3

(4) 4




Haea 78 3 e R T99 ahE g s a9 9 27

(1) 37 &9 (2) =@
(3)  IHHE® () grd=A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11377]
2[Option ID=11378]

3[Option ID=11379]
4[Option ID=11380]

Sl. No.46
QBID:1060021

Zeigler-Natta process

(1) Produces high density polyethylene  (2) Uses no catalyst
(3) Produces low density polyethylene (4) Employs very high pressure

1 1
2) 2
3) 3
(4) 4

T & Torew e wiEan 2

(1) 3= gaea difedia 3e9a +a1 21 (2) ICHF F IFM AE g 8l
(3)  I79 Ueed UieTHH Ie9e T gl (4) =gd 3= 74 P a2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11381]
2[Option ID=11382]

3[Option ID=11383]
4[Option ID=11384]

Sl. No.47
QBID:1060022

Vuleanization of rubber does not increase its

(1) Elasticity (2) Plasticity
(3) Ductility (4) None of these
1) 1
(2) 2
(3) 3

(4) 4




T % SoATR € 99 § 81 9ol &
(1) HedTHT (2) "ueFa

Bl

(3) = (4) T & F3 &

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11385]
2[Option ID=11386]

3[Option ID=11387]
4[Option ID=11388]

Sl. No.48
QBID:1060023

is a natural polymer.

(1) Polystyrene {(2) Nylon-6

(3) Cellulose (4) Phenol formaldehyde
(1) 1
(2) 2
(3) 3
(4) 4

T Wi age 2l

(1)  wiefeeEia (2) AEEAA-6

(3)  Hegelw (4) frate widfoess
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=11389]
2[Option ID=11390]
3[Option ID=11391]
4[Option ID=11392]

Sl. No.49
QBID:1060024

Main constituent of cotton fiber is

(1 Lignin (2) Starch
(3 Protein (4) Cellulose
(1) 1

(2) 2

3) 3

(4) 4




FITH 1§ * = T £
(1)  feria (2) =
(3) WA (4) Heger

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11393]
2[Option ID=11394]

3[Option ID=11395]
4[Option ID=11396]

Sl. No.50
QBID:1060025

Which of the following does not undergo additional polymerization?

(1 Vinyl chloride
(2) Butadiene

(3) Styrene

(4) Adipic acid

(1) 1
(2) 2
3) 3
(4) 4

ST B FITE AT AgEhE § A6 A 27
() ToAEw s=Es

(2) SEIEREA

(3) =

(1)  ufEfus s

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11397]
2[Option ID=11398]

3[Option ID=11399]
4[Option ID=11400]

Sl. No.51
QBID:1060026

Hollow articles like bottles and hollow toys are manufactured by

(1) Compression moulding (2) Transfer moulding
(3) Blow moulding (4) Extrusion moulding
1) 1
(2) 2

3) 3




(4) 4

frew (F) awg 4 7% aae o e (Fe) faei 38 9 feas g a9 @@ 27

(1) e 7=

(3 FTHTE 529

1) 1
) 2

3) 3

(4) 4

1[Option ID=11401]
2[Option ID=11402]

3[Option ID=11403]
4[Option ID=11404]

(2) a0 o=

(1) IR =4

Sl. No.52
QBID:1060027

Density of high-density polyethylene is about gm fem
(1) 1.18 (2) 0.70
(3) 0.95 4y 1.10
1) 1
(2) 2
3) 3
(4) 4
EWWWWW gm |ecm hd
(1) 1.18 (2) 0.70
(3) 0.95 (4y 1.10
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=11405]
2[Option ID=11406]
3[Option ID=11407]
4[Option ID=11408]

Sl. No.53
QBID:1060028

Potassium Oleate is added to the rubber latex compound to

(1) Improve the tackiness

(3) Stabilize the latex

1)1
(2) 2
(3) 3
4) 4

(2) Increase the viscosity of latex

(4) Cheapen the latex




T wead H 3 4§ e fou arefiem snfede fiemn s &7

(1)  weifyen | 3afd (2) <reFm §i vEEm § 3
(3)  ©ewE W T wH F o (4) T I TET H * T
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11409]
2[Option ID=11410]
3[Option ID=11411]
4[Option ID=11412]

Sl. No.54
QBID:1060029

Synthetic rubber is also called

(1) Gum rubber (2) Caoutchouc
(3) Buna-S {4) Gum elastic
1) 1
(2) 2
(3) 3
(4) 4
Hyeitya T 1 = @ o FEd 2
(1) TEwE (2) FIA
(3) =-S5 () (4) g Ve
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11413]
2[Option ID=11414]
3[Option ID=11415]
4[Option ID=11416]

Sl. No.55
QBID:1060030

Which process 13 used to remove internal stresses from a metal?

(1) Annealing only (2) Cold working only
(3 Both (1) and (2) (4) None of the above
1) 1
2) 2
(3) 3

(4) 4




TH T FET TR OF 919 T A 999 F 22H o oA S0 G A 2

(1)  =ae sHem (2) Fae ITAH FHO
(3)  TA (1) 3R (2) (4) T T T TH
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=11417]
2[Option ID=11418]
3[Option ID=11419]
4[Option ID=11420]

Sl. No.56
QBID:1060031

What is meant by ductility?

(0 Metals can be drawn into sheets
(2) Metals undergo elastic deformation under tensile loads
(3) Metals undergo plastic deformation under tensile loads
(4) All the above

(1) 1

(2) 2

3) 3

(4) 4

AT W1 1 HACE & 7

(1) oy =1 9T o Hiea & T &

(2) U FF ¥R & i e T w5 g
(3)  uigd o W % i e e w21
(4)  IwE T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11421]
2[Option ID=11422]

3[Option ID=11423]
4[Option ID=11424]

Sl. No.57
QBID:1060032

An example of amorphous material is

(1) Brass (2) Glass
(3) Silver {(4) Lead
(1) 1
(2) 2
(3) 3

(4) 4




HAlpeeeta 59 w1 IEEm B

(1) ElE (2) ==
(3)  =mEt (4)

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11425]
2[Option ID=11426]

3[Option ID=11427]
4[Option ID=11428]

Sl. No.58
QBID:1060033

The co-ordination number of BCC erystal structure is

(1) 8 (2) 16
(3) 12 4y 10

1)1
(2) 2
(3) 3
4) 4

& =i ft (BCC) fres g & aw=at g 21

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11429]
2[Option ID=11430]

3[Option ID=11431]
4[Option ID=11432]

Sl. No.59
QBID:1060034

Crystal structure of a material is, generally, examined by

(1) Naked eye (2) Optical microscope
(3) Metallurgical microscope (4) X-ray technique
(1) 1
(2) 2
(3) 3

(4) 4




gerel =hi TorEee BUEAT 1 STHEaEl e g TiE T e g 7

(1) 7= | =
(3)  oEHE g

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11433]
2[Option ID=11434]

3[Option ID=11435]
4[Option ID=11436]

(2) W gEwEE
(4) X- fafEom awde

Sl. No.60
QBID:1060035

Gibbs phase rule is given by

(1) F=C+P

(3) F=C+P-2

1 1
) 2
(3) 3
(4) 4

fired wraeen faw & g fEan w2

(1) F=C+P

(3) F=C+P_-2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11437]
2[Option ID=11438]

3[Option ID=11439]
4[Option ID=11440]

(Z) F=C-Pa2

) F=C-P-2

() F=C-Pa+2

) F=C-P-2

Sl. No.61
QBID:1060036

Line imperfection in a crystal is known as

(1) Frenkel defect

(3 Miller defect

1)1
(2) 2
(3) 3
(4) 4

(2) Edge dislocation
(4) Schottky defect




w oz § tdfg squlan #1 wed £

(1) et 5 (2) w wuw (ferem)
(3 freraEm (4) =i g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11441]
2[Option ID=11442]
3[Option ID=11443]
4[Option ID=11444]

Sl. No.62
QBID:1060037

The elastic stress-strain behaviour of rubber is -

(1) Linear (2) Non-linear

(3 Plastic (4) Unpredictable behaviour

1 1
(2) 2
3) 3
(4) 4

T o g Wiiee fagta e 2
() T=. (2) e
(3) gI@ (4) T FEIHT =T

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=11445]
2[Option ID=11446]

3[Option ID=11447]
4[Option ID=11448]

Sl. No.63
QBID:1060038

Which type of defect are point defects?

(1) One dimensional defect (2) Zero-dimensional defect
(3) Two-dimensional defect {4) Three-dimensional defect
1) 1
(2) 2
(3) 3

(4) 4




T & =i g famg g 27

(1) v 2 (2) vt A
(3) foferfra g (4) Bffa g
(1 1
(2) 2
(3) 3
(4) 4

1[Option ID=11449]
2[Option ID=11450]
3[Option ID=11451]
4[Option ID=11452]

Sl. No.64
QBID:1060039

Burger vectors are relevant to which of the following crystalline defects?

(1) Point defects (2) Line defects
(3) Interfacial defects (4) Bulk defects
1) 1
(2) 2
(3) 3
(4) 4

il wfgm 9 § Fid freelta @ & grafua 27

(1 fgaw (2) T
(3) A (4) w2
(1 1
(2) 2
(3) 3
(4) 4

1[Option ID=11453]
2[Option ID=11454]
3[Option ID=11455]
4[Option ID=11456]

Sl. No.65
QBID:1060040

How many lattice structures exist?

(n 2 (2) 14
@ 1 (4 5
1) 1
) 2
3) 3

(4) 4




fere Ao G Wit | 27
(1) 2 (2) 14
(3) 7 (4) 5

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11457]
2[Option ID=11458]

3[Option ID=11459]
4[Option ID=11460]

Sl. No.66
QBID:1060041

A heat engine operates at 75% of the maximum possible efficiency. The ratio of the heat
source temperature (in Kelvin) to the heat sink temperature (in kelvin) is 5/3. The fraction of
the heat supplied that is converted to work is

(1) 0.2 2y 03

(3 04 (1) 06

1)1
(2) 2
(3) 3
4) 4

uF T 50 sAfad wIfEE g 1 75% W WS gl #1 a = aree (Feea 7) 6 qeen |§ am
foe aam (feam ) =1 o 5/3 #1 & e = fim St w6 § ofEfde w6 o d

(1) 0.2 2y 03
(3) 0.4 (4) 06

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11461]
2[Option ID=11462]

3[Option ID=11463]
4[Option ID=11464]

Sl. No.67
QBID:1060042

The Heat Capacity of a solid compound can be estimated using

(1) Clapeyron Equation (2) Gibbs Equation
(3) Kopp's Rule (4) Trouton's Rule
(1) 1
(2) 2
(3) 3

(4) 4




U BT IR =h1 SOHT AT %1 TSR] SUENT ek HTRieTd o B 87
(1) o adm (2) s e
(3) i (4) zEeq fam

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11465]
2[Option ID=11466]

3[Option ID=11467]
4[Option ID=11468]

Sl. No.68
QBID:1060043

For a Carnot refrigerator operating between 40°C and 25°C, the coefficient of performance is

(1) 1 (2) 187
(3) 19.87 (4) 39.74

1)1
(2) 2
(3) 3
4) 4

UF FHEE T 40°C 30 25°C F = w=1e= e & @ FoamE & g

(1) 1 (Z) 1.67
(3) 19.87 (4) 39.74

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11469]
2[Option ID=11470]

3[Option ID=11471]
4[Option ID=11472]

Sl. No.69
QBID:1060044

Shear Stress is

(0 Pressure exerted by the fluid (2) Force per unit area of the shearing plane
(3) One dimensional flow {(4) None of the above

(1) 1

(2) 2

(3) 3

(4) 4




T H ET ideEd B

(1) o % g JEE g

(2)  TH9Y HHAS % = WA 3 SEAee
(3)  foita R

() A FE A

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11473]
2[Option ID=11474]

3[Option ID=11475]
4[Option ID=11476]

SI. No.70
QBID:1060045

The fluid in a pipe is laminar when the Reynolds number is

(1) Re < 2000 (2) Re > 4000
(3) 2100 < Re < 4000 (4) None of these

1) 1
(2) 2
3) 3
(4) 4

THTrE T Rt 9 T U UET § i Uaeid g 7

(1) Re < 2000 (2) Re > 4000
(3) 2100 < Re < 4000 (4) 399 | i3 T8
(1) 1
(2) 2
3) 3
(4) a

1[Option ID=11477]
2[Option ID=11478]
3[Option ID=11479]
4[Option ID=11480]

Sl. No.71
QBID:1060046




Match List I with List IT :

List I List II
(A) Ideal Fluids ruEss K
. dU
(I r = u 1
. dy
(By Newtonian Fluids (II) r=0
(C) Bingham Plastics TR
@D« - 2|
\ ay }
D) Non-Newtonian Fluids
(D) on-Newtonian Fluids 0V = — s

Choose the correct answer from the options given below :

(1) (A)-(IT). (B)-(I1I), (C)-(IV), (D)-(I)
(2) (A)-(IV), (B)-(III), (C)-(II), (D)-(I)
(3) (A)-(I). (B)-(II), (C)-(1II)., (D)-(IV)
(4) (A)-(III). (B)-(IL). (C)-(IV), (D)-(I)
(1) 1
2) 2
(3) 3

(4) 4

( du

+ | —

Ldy )




T=-1 o @1 g1-11 =1 e fifso .

g1 FA-11
(A) STl ¥ i

(L 2= ] i
\dy )

(B) =R & I -0
C) f=itg gaz Fop %
( = (D) =4 dlp
L dy |}

(D) A-=Eifaad &=

(IV) 1 = Constant + ,u|
[

t%|§i

= f2u U el § ° o 3T @ = Fie

(1) (A)-(II), (B)-(III). (C)-(IV), (D)-(I)
(2) (A)-(IV). (B)-(I1I), (C)-(IT). (D)-(I)
(3) (A)-(I). (B)-(IT). (C)-(III). (D)-(IV)
(4) (A)-(III). (B)-(II). (C)-(IV). (D)-(I)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11481]
2[Option ID=11482]
3[Option ID=11483]
4[Option ID=11484]

Sl. No.72
QBID:1060047

When the pressure difference is small then which of the following instrument is used?

(1) Inclined Manometer (2) Manometer
(3) Barometer (4) All of these

1 1
) 2
(3) 3
(4) 4

e g s =9 Bl § 99 399 ° SEE 39901 39 TR St

(1) ST TR (2) EETEEE
(3)  FrggrEETd (4) I T
1) 1

) 2




3) 3
(4) 4

1[Option ID=11485]
2[Option ID=11486]
3[Option ID=11487]
4[Option ID=11488]

Sl. No.73

QBID:1060048

Which of the following statements 1s true regarding the applicability of Bernoulli's equation

a

L_d

Z 4+ =% = Constant ¢
2g
Statement I :  Applicable for a steady. continuous flow along a streamline
Statement II :  Applicable for incompressible. non-viscous. Inversed and frictionless

flow

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1= correct
Both Statement I and Statement II are correct

Both Statement I and Statement II are incorrect




3 3 o fru o 3

w1 TAfAfgd § #EE FF SRl OHEm % SEwEm % ored 0 d@E 8l
p L;_. r"_' - = = .4‘ a ‘I@z[ - = o = é
Z + — + — = Constant T =6 TelU S99 UdTe = {19 Hdd U<lE & |
pg  2g

IRIE F9F & A 4, 5 50 70 FEedi § ¥ 999 39gE I F 991 S

(1) %99 1E81 2, SAfehd Fd 11 77ed 2
(2) %9 1 7Ted 2, <l &ed 11 &8 2
(3) o I 3 I1 261 931 2

(4)  FH AR IIZE Tod =
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11489]
2[Option ID=11490]

3[Option ID=11491]
4[Option ID=11492]

Sl. No.74
QBID:1060049

For a given ambient air temperature with increase in thickness of insulation of a hot
evlindrical pipe. the rate of heat loss from the surface would

(1) Decrease throughout (2) Increase throughout

(3 First decrease and then increase (4) First increase and then decrease

(1) 1

) 2

3) 3

(4) 4

uF i mu wfissf ag ame s T SeR 15T ® A=eEa $ Jies & @19 9ga 2, 908 § 9 5
#i =t &ft

(1) 4% 57g gt (2) G« AT "

(3) e met fe aeft (4) TEdt wft fme et
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=11493]
2[Option ID=11494]
3[Option ID=11495]
4[Option ID=11496]

Sl. No.75
QBID:1060050

The units of resistance to heat transfer are
(1) s T (2) A

(3) w.m™ % k1 ) wlmik

1 1
) 2
3) 3
(4) 4

ST S * feru wieta i S #
(1) J.m 2 K (2) T

(3) W.m 2K (4) w m?K

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11497]
2[Option ID=11498]

3[Option ID=11499]
4[Option ID=11500]

Sl. No.76
QBID:1060051

The heat flux (from outside to inside) across a insulating wall with thermal conductivity
K = 0.04 Wm.K and thickness 0.16 m 1s 10 W/m2. The temperature of the inside wall is

—5°C. The outside wall temperature is

(1) 25°C (2) 30°C

(3) 36°C (4) 40°C

1) 1

() 2

(3) 3

(4) 4

T SATHETE (SE § 3=t i 3E) 9" e K= 0.04 Wim K 377 Ai2E 0.16 m % @1 fasm T

“ER % @™ 79 10 Wm? 21

37 Fl 90 SEN F AEE —5°C 7 F1 |6 i aTF oW H ahEE 2

(1) 25°C (2) 30°C
(3) 35°C 4y 40°C
1) 1
(2) 2

3) 3




(4) 4

1[Option ID=11501]
2[Option ID=11502]
3[Option ID=11503]
4[Option ID=11504]

Sl. No.77
QBID:1060052

Heat Transfer by natural convection is enhanced in systems with

(1 High Viscosity (2) High coefficient of thermal expansion

(3) Low temperature gradients (4) Low density change with temperature

(1) 1
) 2
(3) 3
(4) 4

T F TEET g S SO 99 | hEs g Fear 27
(1) = THEET (2) ardff YER = 3= TE

(3) e AITHE TE0ET (4) WITHE % "9 HeT Heed giEad

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=11505]
2[Option ID=11506]

3[Option ID=11507]
4[Option ID=11508]

Sl. No.78
QBID:1060053

The thermal boundary layer is significantly thicker than the hydrodynamic boundary layer
for

(1) Newtonian Liquids (2) Polymeric Liquids

(3) Liguid Metals (4) Gases

1 1
(2) 2
3) 3
(4) 4

e TeT0 i g Jar W =9 5 gaTaehd 9EET | 1A w7 2 ¢

(1) =gEFEeza (2) wEAH A

(3 3ed (4 =

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=11509]
2[Option ID=11510]




3[Option ID=11511]
4[Option ID=11512]

Sl. No.79
QBID:1060054

Steam economy of a multiple effect evaporator system is defined as

(1) Kilogram of steam used per hour
(2) Kilogram of steam consumed in all the effects for each kilogram of steam fed
(3) Kilogram of steam used in all the effects for each kilogram of water vaporized per hour
(4) Kilogram of water vaporized from all the effects for each kilogram of steam fed to the
first effect
(1) 1
(2) 2
(3) 3
(4) 4

(1) TF=TITE 9T = O 9T 3T
(2) T e e %t we i A s e

(3) =9 919 UG 52 1 UEAF (FAWE F on gd€ q97Ed § 3990 Hemm a9
(4) W9 THE F TUH THE 0 TeAF e+ o g9 g9 § e Se 9
(1) 1
() 2
(3) 3
(4) 4
1[Option ID=11513]
2[Option ID=11514]

3[Option ID=11515]
4[Option ID=11516]

Sl. No.80
QBID:1060055

The effectiveness of a heat exchanger in the £- NTU method is defined as

(1) Increase in temperature of the cold fluid

Decrease in temperature of the hot fluid

(2) Actual exit temperature attained by the cold fluid
Maximum exit temperature attainable by the cold fluid

(3) Actual exit temperature attained by the hot fluid
Minimum exit temperature attainable by the hot fluid

(4) Actual heat transfer rate
Maximum possible heat transfer rate from hot fluid to cold fluid

(1) 1
) 2
(3) 3
(4) 4




£- NTU @y § =1 EiHams =i warEar = o aiead 0 2

(1) 292 9% % 999 | Jig
TH T % 999 § FE

(2)  3US S NI AWATH FIH AT T

(3) T T g ANAF Y AUEH TE=
TH A g1 I=AE R e TEE

(4)  ATEAEE SO T T
T WA H 3U5 WA F ToqH HEME S FAEE 5

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11517]
2[Option ID=11518]

3[Option ID=11519]
4[Option ID=11520]

Sl. No.81
QBID:1060056

Air is to be heated by condensing steam. Two heat exchangers are available; (i) a shell and
tube heat exchanger, and (ii) a finned tube heat exchanger. Tube side heat transfer area is
equal in both cases. The recommended arrangement is

(1) finned tube heat exchanger with air inside and steam outside
(2) finned tube heat exchanger with air outside and steam inside
(3) shell and tube heat exchanger with air inside tubes and steam shell side
(4) shell and tube heat exchanger with air on shell side and steam inside tubes
(1) 1
(2) 2
3) 3
(4) 4

T W g 9 w1 ™ g g S e swee #) () & S st wgE e fafmmee i (1)
UF T T S S | S § A T S SR AR 5 8| S e 8l

(1) o=t 1 7% T 3 T F T 90 F WY GoH S F9 G

(2) = F WE 91 A S F E 9 HY gaE ogd S e

(3) ¥t il T TG SN W TE 99 F G FE AR g F G

(4) 9 % Uvd W A9 3N E % et il 7% WY % °91Y w9 @6 ggE S ke

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11521]
2[Option ID=11522]

3[Option ID=11523]
4[Option ID=11524]




Sl. No.82
QBID:1060057

As per Kirchoffs law, the ratio of the total radiating power to the absorptivity of a body
depends on the

(1) temperature of the body only

(2) wavelength of monochromatie radiation only

(3) both (1) and (2)

(4) nature of material of body

(1) 1
) 2
(3) 3
(4) 4

= o % aEn, vF e (3) F a1 e | T Al s w1 e e o
A 27

(1)  ad 95 F a9 W (2)  Fael THIUI (S =l G0 G W

(3)  =H (1) 3 (2) (4) =g % "o H THA W

1) 1
) 2
3) 3
(4) 4
1[Option ID=11525]
2[Option ID=11526]

3[Option ID=11527]
4[Option ID=11528]

Sl. No.83
QBID:1060058

Rate of heat transfer by vaporization from pools of water is affected by the

(1) nature of heating surface and distribution of bubbles only
(2) surface tension of water only
(3) viscosity of water only

(4) all of the above

(1) 1
) 2
3) 3
(4) 4

T 1 FHT T T R FHT TR T 7 g Wi w87
(1)  aa T g4 J dag i TEA ST qerge & e W

(2) A9 IS F I8 AT W

(3)  haa o« & v

(1)  IwE T

1 1
) 2
3) 3




(4) 4

1[Option ID=11529]
2[Option ID=11530]
3[Option ID=11531]
4[Option ID=11532]

Sl. No.84
QBID:1060059

Which of the following has the highest thermal conductivity?

(1) Brick (2) Air
(3) Water {(4) Diamond

1)1
(2) 2
(3) 3
4) 4

frafafiga § @ s =0 adia =ea wgar &7

(1 (2) 9
(3 = (4) #m

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11533]
2[Option ID=11534]

3[Option ID=11535]
4[Option ID=11536]

Sl. No.85
QBID:1060060

In natural convection heat transfer, the correlating parameter is the

(1) Graetz number (2) Eckert number

(3 Grashoff number (4) Bond number

1 1
(2) 2
3) 3
(4) 4

THI TEET H 1 T, HEEEad A9Ers
(1)  oas gemn (2) UH FE

(3)  TEE gE (1) =9 9=

1 1
(2) 2
3) 3
(4) 4

1[Option ID=11537]
2[Option ID=11538]




3[Option ID=11539]
4[Option ID=11540]

Sl. No.86
QBID:1060061

Minimum reflux ration in a distillation eolumn results in

(1) optimum number of trays {(2) minimum reboiler size

(3 maximum condenser size {4) minimum number of trays

1 1
) 2
(3) 3
(4) 4

UF A HieW H <08 IaaTg S & T F=ET w6 gl

(1) 2 H e F=n (2) =FaR FEAEE FER
(3)  I=Ha HUHA WEH (4) 2 i =ew T=n
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=11541]
2[Option ID=11542]
3[Option ID=11543]
4[Option ID=11544]

Sl. No.87
QBID:1060062

The feed to a binary distillation column has 40 mol% vapor and 60 mol% liquid. Then the
slope of the g-line in the Mc Cabe-Thiele plot is

(1) -1.5 2y -06

(3) 0.6 4y 1.5

1)1
(2) 2
(3) 3
4) 4

TF FEl AEE FieE & Tou i 40 G % 9799 S 60 HiE % 7 @ 8 69 dEe-ofie sma o
q-=I15 = =@

(1) -15 (2) -06

(3) 086 4 1.5

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11545]
2[Option ID=11546]

3[Option ID=11547]
4[Option ID=11548]




Sl. No.88
QBID:1060063

To increase the absorption factor, (where, G = gas flow rate, S = solvent flow rate)

(1) increase both ‘G" and ‘8’ (2) decrease both ‘G’ and ‘S’

(3) increase ‘S and decrease ‘G’ (4) increase ‘G’ and decrease ‘S

1)1
(2) 2
(3) 3
4) 4

HIIT 7O I FgH d (FE, G = 15 v\ r &, S = Fe = w)

(1)  gF ‘G 3t ‘S wed 81 (2) =M ‘G s ‘S Hed &
(3) ‘S =EEar & W G ge 21 (4) ‘G = § e S ge B
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11549]
2[Option ID=11550]
3[Option ID=11551]
4[Option ID=11552]

Sl. No.89
QBID:1060064

Persons working in cement plants and limestone quarries are more prone to disease like

(1) cancer (2) asthma

(3) silicosis (4) fluorosis

1 1
(2) 2
3) 3
(4) 4

ATEHT AT e ®E SR AT T el @ # W i 2| R wE e & o st | 27

(1) W (2) wrEgH
(3) fafwmma (4) ST

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11553]
2[Option ID=11554]

3[Option ID=11555]
4[Option ID=11556]

Sl. No.90
QBID:1060065




Iron and manganese present as pollutant in water cannot be removed by

(1) ion exchange process
(2) oxidation followed by settling and filtration
(3) lime soda process or manganese zeolite process

(4) chlorination

(1) 1
(2) 2
3) 3
(4) 4

el 3R WIS Fd ° J9e4d WGTE & A1 [FEF G TUF 6] L A B 7
(1)  =m fafme ofe

(2) e TR e o fes

(3) = =ren wiwan A7 #re faremse wfw

(4)  FEiEEEm

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11557]
2[Option ID=11558]

3[Option ID=11559]
4[Option ID=11560]

Sl. No.91
QBID:1060066

Higher efficiency in the combustion of solid fuel cannot be achieved by

(1) proper fuel preparation
(2) keeping the flue gas exhaust temperature very high
(3) adopting efficient-fuel firing technique and equipment

(4) supplying correct quantity of combustion air

1 1
(2) 2
3) 3
(4) 4

2E TOA % 72a O 309 &0l fFOE go-T8 T W aEd 2 7
(1) 3fEd =99 44

(2)  gEETEE TE AW # A S50 39 ST T

(3)  =E T ST aFATF 310 ST S

(4) e T 1 TE 9§ 39 FEAT

1) 1
2) 2
3) 3




(4) 4

1[Option ID=11561]
2[Option ID=11562]
3[Option ID=11563]
4[Option ID=11564]

Sl. No.92
QBID:1060067

Combustion reaction of fuels is afan

(1) auto catalytic
(3) endothermic
(1) 1
(2) 2
(3) 3
(4) 4
3 i g9 ATuhE
(1) = 38
(3) AT
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11565]
2[Option ID=11566]
3[Option ID=11567]
4[Option ID=11568]

(2)
(4)

wfufEa B

(2)
(4)

reaction.

exothermic

none of these

FHEHTET
T o wE

Sl. No.93
QBID:1060068

Which of the following constituents of coal is the most important in the production of coke?

(1) Moisture
(3) Volatiles

1 1
(2) 2
3) 3
(4) 4

(2
(4)

Ash

Carbon

fraferfiaa # Fi9a1 ®ae %1 G9eF A F1F & I8 § G TEA 27

(1) =g
(3) ElHi!

1 1
(2) 2
3) 3
(4) 4

1[Option ID=11569]

(2)
(4)

e

EACT]




2[Option ID=11570]
3[Option ID=11571]
4[Option ID=11572]

Sl. No.94
QBID:1060069

High temperature in gasification of coal favors
(1) high production of CO= (2) low production of CO= only
(3) high production of CO only {(4) both (2) and (3).

(1) 1
(2) 2
3) 3
(4) 4

HEAT 94 F 19T O I a9

(1) CO:7F1 3= 3eqA (2)  Fad CO2 T F=9 Fq5A
(3) e COF 3= 30015 (4) =F (2) 37T (3)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11573]
2[Option ID=11574]
3[Option ID=11575]
4[Option ID=11576]

Sl. No.95
QBID:1060070

Which of the following is not a by-product fuel?

(1) Producer gas (2) Blast furnace gas

(3) Coke oven gas (4) Refinery gas

1 1
(2) 2
(3) 3
(4) 4

3T B FE UF IUSCIE $6F A6 B 7
(1)  IeEs = (2) WA T
(3) i 3 T (4) T g

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11577]
2[Option ID=11578]

3[Option ID=11579]
4[Option ID=11580]

Sl. No.96
QBID:1060071




The specific death rate of an organism can be expressed as

(1) In2/D
(3) D.In?2

11
(2) 2
3) 3
(4) 4

U W14 i fafire g6 7 #1 ifaeat & wd &7

(1) In2/D
(3) D.In?2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11581]
2[Option ID=11582]

3[Option ID=11583]
4[Option ID=11584]

(4 2x03/In2

Sl. No.97
QBID:1060072

In sterilization process, spore of which of the following organism is considered as control?

(1) Bacillus subtilis

(3) Bacillus stearothermophilus

1) 1
) 2
3) 3
(4) 4

(2) Clostridium botulinum

(4) Aspergillus niger

o . s T P 2 = T c o w0 T
THIFAY Fli'ﬁa H, HHTARET == =6 =985 == Ha=6 =+ e qM™ieEd o 2 7

(1) afgem et
(3)  wEem SRYEEey
(1) 1

(2) 2

3) 3

4) 4

1[Option ID=11585]
2[Option ID=11586]
3[Option ID=11587]
4[Option ID=11588]

X BT e —
(2) FARENSAE "o

(4) TERIAEH AW

Sl. No.98
QBID:1060073




Filamentous fungal cells are more shear sensitive than bacterial cells because of

(1) the presence of chitin in cell walls of filamentous fungi
(2) larger in size than bacterial cells and therefore are more susceptible to shear forces
(3) fungal cells are much larger than bacterial cells

(4) all of the above

1)1
(2) 2
(3) 3
4) 4

fremidl was FifrwE, e wifiEe § sg Sue g9ie ¢ w0
(1) Tramd Fas i S iz 5wl i st

(2)  oFfE] FE § AR | 92 SR FE e a9 & foe s gates v

(3) AT IR A HIETE H AT T
(4) I Tt

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11589]
2[Option ID=11590]

3[Option ID=11591]
4[Option ID=11592]

Sl. No.99
QBID:1060074

Friction factor for fluid flow in pipe does not depend upon the

(1) pipe length (2) pipe roughness
(3) fluid density and viscosity (4) mass flow rate of fluid

(1) 1
) 2
3) 3
(4) 4

TI59 | T WATE & S e R W i T e 27

(1) e Fi F (2) 9 H G
(3) ™ T SR TEEa (4) A F ZHHA TEE T

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=11593]
2[Option ID=11594]

3[Option ID=11595]
4[Option ID=11596]




Sl. No.100
QBID:1060075

LMTD can't be used as such without a correction factor for the

(1) multipass heat exchanger only
(2) baffled heat exchanger only
(3) condensation of mixed vapor in a condenser only
(4) all of these
(1) 1
2) 2
3) 3
(4) 4

forareh for wmem Tor o form St 2an & v T @ A B 7
(1) e sgaw s fafem (2) Faa s s fafem
(3)  hae ©F gutE § falm amr = e (4) IFr Tt

1) 1
(2) 2
3) 3
4) 4
1[Option ID=11597]
2[Option ID=11598]

3[Option ID=11599]
4[Option ID=11600]




